®

>

JianHui

& 7E JEK#R Mo6Z 51

& %E &K #2M 06 % 5

RISR AR AR

MO06 - 06 - S - 1

2018 & (& E K]

HOT3RAE AN 06:3/4
HOME: S:EEED

EME: 1:PT 2:

RERNBRSTEH

08:

NPT

1" 10:1-1/4"
B:/EARE O
3:SAE

SB:fAIE A R ER L O

[ 2 K 1SO 4401-AB-03-4-A  Ei{i1: mm(inch)

’

a

25(1)

4-23(0.906)

M

152(5.984)

I

N

4-11(0.433)* L Q
4-17.5(0.689)

2-11(0.433) \

)

(0.748)

N

OO

N

@@% 16)

le!

Q

@
D D¢

& &

= @ Q@)

17.5(0.689)
73(2.874)

74.5(2.933)

92(3.622)

114(4.488)

(0.193)

S
~

2-p7%8L /

(0.276)Dia.
(0.315)Depth

29.4(1.157)
-
53(2.087)
77(3.031)
94.5(3.720)
101(3.976)

112.7(4.437)

130(5.118)

180(7.087)

t
‘ 17.6(0.693)
EIAL AL S

206(8.110)

:

200

- T ———
R

M”

[

]

~
©
@)

G

DL

%ﬁ%

4¢%E

\

-55-



®

m & 7E K # M06% 51

JianHui

EERRZ R TEHER

B {i7: mm(inch)

A 5K C D E F
-1 4-11/4"PT - 6-M12X1.75P 2-1/4"PT
-S| -2 4-11/4"NPT - 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-11/4"SAE-2B - 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 - 4-11/4"PT 6-M12X1.75P 2-1/4"PT
MO06-06
-B|-2 - 4-11/4"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 - 4-11/4"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 4-11/4"PT 4-11/4"PT 6-M12X1.75P 2-1/4"PT
-SB| -2 4-11/4"NPT 4-11/4"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-11/4"SAE-2B 4-11/4"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
A K G H I J K L M N O
s ~ ~ _ ~ ~ ~ 106 48 85
- (4.173) | (1.890) | (3.350)
85 24.4 48 82 106 121.5
M06-06 -B (3.350) | (0.961) | (1.890) | (3.228) | (4.173) | (4.783) - - -
SB 85 24.4 48 82 106 121.5 106 48 85
- (3.350) | (0.961) | (1.890) | (3.228) | (4.173) | (4.783) | (4.173) | (1.890) | (3.350)
A K P Q R S T ) \Y W X
s 45 90 121.5 82 24.4 ~ " ~ |
i (1.772) | (3.543) | (4.783) | (3.228) | (0.961)
17.5 19 73 74.5
M06-06 -B - - - - - (0.689) | (0.748) | (2.874) | (2.933)
SB 45 90 121.5 82 24.4 17.5 19 73 74.5
- (1.772) | (3.543) | (4.783) | (3.228) | (0.961) | (0.689) | (0.748) | (2.874) | (2.933)

-56-



®

m & 7E K # M06% 51

JianHui

EERRZERTEHER

B {i: mm(inch)

# K C D E F
-1 4-1"PT - 6-M12X1.75P 2-1/4"PT
-S| -2 4-1"NPT - 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-1"SAE-2B - 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 - 4-1"PT 6-M12X1.75P 2-1/4"PT
MO06-06
-B|-2 - 4-1"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 - 4-1"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 4-1"PT 4-1"PT 6-M12X%1.75P 2-1/4"PT
-SB| -2 4-1"NPT 4-1"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-1"SAE-2B 4-1"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
A = G H | J K L M N @)
s . _ ~ ~ - ~ 106 53 17.6
' (4.173) | (2.087) | (0.693)
17.6 24.4 53 77 101 112.7
M06-06 -B (0.693) | (0.961) | (2.087) | (3.031) | (3.976) | (4.437) [ - -
SB 17.6 24.4 53 77 101 112.7 106 53 17.6
F (0.693) | (0.961) | (2.087) | (3.031) | (3.976) | (4.437) | (4.173) | (2.087) | (0.693)

p=
>3

P Q R S T U \ W X

S 35 70 112.7 | 77 24.4
- (1.378) | (2.756) | (4.437) | (3.031) | (0.961)

17.5 19 73 74.5
M06-06| -B - - - - T | (0.689) | (0.748) | (2.874) | (2.933)

35 70 112.7 | 77 244 | 175 19 73 74.5
-SB | (1.378) | (2.756) | (4.437) | (3.031) | (0.961) | (0.689) | (0.748) | (2.874) | (2.933)

-57-



®

>

JianHui

[ 7E K #R Mo6Z 51

EERRZ R TEHER

B2 fi.: mm(inch)

A 5K C D E F
-1 4-3/4"PT - 6-M12Xx1.75P 2-1/4"PT
-S|-2 4-3/4"NPT - 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-3/4"SAE-2B - 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 - 4-3/4"PT 6-M12X1.75P 2-1/4"PT
MO06-06
-B | -2 - 4-3/4"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 - 4-3/4"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
-1 4-3/4"PT 4-3/4"PT 6-M12X1.75P 2-1/4"PT
-SB| -2 4-3/4"NPT 4-3/4"NPT 6-1/2-13UNC-2B | 2-1/4"NPT
-3 4-3/4"SAE-2B 4-3/4"SAE-2B 6-1/2-13UNC-2B | 2-1/4"SAE-2B
LU= G H I J K L M N O
s ~ ~ _ ~ ~ ~ 101 53 17.6
- (3.976) | (2.087) | (0.693)
17.6 29.4 53 77 101 112.7
M06-06 -B (0.693) | (1.157) | (2.087) | (3.031) | (3.976) | (4.437) - - -
SB 17.6 29.4 53 77 101 112.7 101 53 17.6
- (0.693) | (1.157) | (2.087) | (3.031) | (3.976) | (4.437) | (3.976) | (2.087) | (0.693)
2 =X P Q R S T ) \Y W X
s 35 70 112.7 77 29.4 ~ " ~ |
i (1.378) | (2.756) | (4.437) | (3.031) | (1.157)
17.5 19 73 74.5
M06-06 -B - - - - - (0.689) | (0.748) | (2.874) | (2.933)
SB 35 70 112.7 77 29.4 17.5 19 73 74.5
B (1.378) | (2.756) | (4.437) | (3.031) | (1.157) | (0.689) | (0.748) | (2.874) | (2.933)

-58-




	Ò³Ãæ  58
	Ò³Ãæ  59
	Ò³Ãæ  60
	Ò³Ãæ  61

